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Chemistry Sci (
\‘) Lab: Identifying Elements, Compounds, and Mixtures
_Mirections: Read through the review chart below and answer the pre-lab questions.
Elements Compound Mixture
{]e pure substance made up of ¢/ 2 ormore elements thatare | e 2 or more elements physically
only one kind of atom chemically combined to make combined
;72 e All elements are located on anew substance » Elements used keep their

the Periodic T O igi i
El:meerl;;gdlc able of &2 Properiies oF fhe lismunts original properties (not

used to make th d chemically combined)
3 ¢ Cannot be separated into any sed to make the compound H e

simpler form chemically or arechanged substance that are.evenly mixed,

physically : unable to identify the different
substances

Heterogeneous -a mixture in
which different substances can
be identified

Pre-Lab Questions:

L. What is the difference between an element and a compound?
Y

/ 7 <
‘{p/%t,/, F oo pure s hstance /’ Comps i Ly are 2 ,-
Mmore el pmend
2.How is a heterogeneous mixture different from a homogeneous mixture? .
. o 4 '/r/<C Skﬂ//' va"a’?(f/"*- (J.')/u.yé/oxy J‘j

3. How is the way a mixture is combined DIFFERENT from how a compound is combined?
S)ixtures arce s ,'m,o/j hy S/ca ///L Mixed tohle o .

A € c /el ‘( a //lf" TN é’/ S (,( =
4. What is easier to separate, a mixture or a compound? Explain why?
Saae

m, X?Z(Mf“e I feganirte /e £s5  ehrer?) «j "#9/9/ @ /& ' d;ﬂp 7O L cf /\'7'/""""(

/ /Z( 2 1""6 < ;"LG. /“/7 ~
5. Which can be found on the periodic table: elements, compounds or mixtures?

%
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TYPES OF CHEMICAL REACTIONS NOTES

4 -
. Synthesis Reaction: when two or more substances Com A’ N &

during a chemical reaction and become one. _ vl
° Synbasis ¢ & butld
Example: A + B 2> AB

https://voutu.be/Y3kDZXP4 SA?t=222

7 7
2. Decomposition Reaction: describes when one (" 9/ ,/0 an ‘é /7/’“ 3 ak Nt Aow /)

into two or more simpler substances.

Example: AB > A + B Decompose i 1o break dows
E) o~ k 4,f7ﬂrr -/7/ £ +( "

hitps://youtu.be/MUensqlmzXM

3. Single Displacement Reaction: this is when one element ! < !9\ e an O“\ '/hc r
&

Like Ldkcy\ kwo (eo\o\( ave c‘/écwucfn;i

{l/\uQ Cu/\oi\/\ir c,’,‘"/‘;‘ /"ﬁ7 o 4

in a compound.
Example: A + BC > AC+B
hitps://voutu.be/OxGibHzxQS1

4. Double Displacement Reaction: this is when two elements __ { € f \(2.( € eox l"] 54“’&' {\/

in a compound. -~ Ty

Example: AB+ DC > Am ‘-Fro 00 Lh(.'f S
A~
s |
2 A0 78\ . ) i N
‘@Q.a}j‘ f./’/(/ﬁe LA Laie. ‘{L\JO Iourr‘) o {

, : i llls =
lf)aoﬁt e‘/*f.‘ L_pw'/)(L 48 z co t,/’

-D c Z)/A (owl/)(t’. § '71( /1

'/pu?r‘J L-J"')A e

/(a.h,c /A? /ﬂa'\

a"lo’/t\,é'/".

/
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PREP

Types of Chemical Reactions

Directions: Write the correct letter on the line that best defines each term.

Term

Definition

2' 1. Double Displacement

Al when two or more substances combine
together during a chemical reaction and
become one.(A+B - AB)

B

" _2.Decomposition Reaction

B! describes when one substance breaks

down into two or more simpler substances.
(AB - A+B)

:D 3. Single - Displacement

D. this is when one element replaces
another in a compound. (A+ BC — AC+B)

= A 4. Synthesis Reaction

F. this is when two elements replace each
other in a compound( AB+ DC — AC +DB)

-
Directions: [dentify the types of chemical reaction using the word bank below:
Synthesis Reaction Single Displacement Decomposition Reaction
| Double Displacement

Lowble Koplt 1,AgNOs+ HaS > AgeS + 2HNOs

g\ﬁnH\GSJS 2.Al+ N2 => 2AIN

g\m}lﬁ QQ(}LQ

3. Fe;03 + Hz > 2Fe + 3H0

be C oM ‘!’)ob Tiew 4, Mg(Cl03)2 > Mg + Cl2 + 02

3|Pa




Balancmg Chemical Equation Notes

Zulck Review

‘Chemical Formula- representation of how elepant s Comhane +O make up
.compound

Shows TWO things
« the elements that make up the compound .
« the number of atoms of each element called___ %% bgeo '\?—\— 5
H20 = the 2 is a subscript.
" (H=2and 0=1)

Ll Bl 0] Dis
CHa 1 5
CHs0r (b H: 8 O!F

Coefficient is the number of /12 (¢ € / €8 in a chemical reaction.
2KI =the 2 represents a coefficient.
So, Z KI units are involved in this reaction.

' Or Kland Kl

“ixamples: |
ZHzOp“q 2 Wotker molecules | Heo + Hao : H -:47// e 2
2NaCl —= 2 Seolt molecwles ¢ 2 *Ne, 2 = Cl

200 —s 2 Cerhon cQ"o;gL',;Qc F &=2 , O Y

Chemical Equation - describe ratlios o 7[\ atom S in a simple way

Balancing Chemical Equations:

Kinds of Number of A g
Ag)lmss0 7 Ag + H2S, o 8_!‘)0 ?gzl;ﬁ H: S gle ’glﬂ/‘“ ment
- . )
A o
fudel | P9 it]2  pei2i2 V.
H .
| alKel, Mo Z-/Z _— H £ 2 / Z /

QASf‘r 3“’*/\)8*“2

41¢



”V/f"'/ /g@u/ 0 -‘{yp(./

' Kinds of Atoms | Number of Atoms 4
N 4Mg + 0, > 2Mgo \gy”/A‘J
Mg /
“ ekl My : | Z———? m‘) | }
0
}v\o\/\ww,a\ O 2 |2 O] /
Ay +Oz —» 21y O
Kinds of Atoms | Number of Atoms (N e /7 ;
"~ Clz+ NaBr - =2 2NaCl + )< S g }/& DUF MM@:]
- — Q (e,nc_e P+ on) (s ‘?(
Cl '\ " (Nw)/ ) 'Q‘\Lprd
nolo7*" Cl T2 & (.8 3 2 fv)r'o pal Hk.
Na ' ‘ | y’l "1/;(‘&
N alled No: ) (2 7 Nef| |2 ¢ sV
r N
\oge" v 2 B ‘
L \noA?9 Br
Kinds of Number of Atoms _ . . ,
Atoms CuCl; +H,S > Cus gHCl Do vble Drnplascpand
Cu
petel Cuw 'l \ | Pocxlf |
Cl |
et ¢ | CLIZ /‘Z Cl=1 |2
| =
'H
| _
al\& oY H'2 2. H ! ' &
M\’)wwﬁ\’o‘\ \S' l ( S : ) |

CuCly +H2S = CuS+ 20 5.y



) - Balancing Act

Atoms are not created or destroyed during a chemical reaction. Scientists know that
“there must be the same number of atoms on each side of the equation. REMEMBER - you

may add coefficients in front of the chemical formulas, but you can not add or change the
subscripts.

1. 2Ca + _|_0; > _Z Ca0 y Sywﬂce—f/lr 5

lCa= | | 2 ca=l | & /ZC"’
o W

0= 2 |2 o= 1 | <& 2 C_‘P* |

2.__CHg + 5 02 > 2 €Oz +_4 H20 AD"’“Z’/(’ D/Ip[u’.ﬂ/}ﬂlh‘/_

=3 | 3 =1 |3 / (Lombustion)

H= % | D B= 2 |8 /
f\’: 2 |O 0= > [IO /

3._2’_‘(:1120"'_'_.(: > ff Cu+_! COZ | S/AQ/Q ’ﬁfyéﬁ_.;fﬂ‘-(;?/bf

Cu= 2~ [ L} Cu= | X."f 4 | )(C’O

/ A G
o= { |[Z =2 |2 | C A
e

C= | , C= ’ , \QC\.\-LO ,
[#ENa+ 3 H0> ENaOH + ZHy  Qlugle Diplasement g A\
Na= | |4 Na= I L ¢ L\‘\\*’O\’\*

H= 2 % H= 3 &8 / ‘_\)(\40/ \

o= | |4 o= L[yt

)

-




5 Z Mg+ 10> 2 M0 G Hhosis
= A 2— = | —— =
f:}%/lg Mg &
= 2 | @ o= 1 |2 " QMg+ O ~FT2M30
6. ¥ CHi+ Z 0:> 1 00+ Z H0 Doulle D5 plagement
e % | A g1 11 (Combwﬂ‘o,g |
H= Y4 | Y H= - | |
H=g | & CHy+ 205 —> O+ 24,0
O= Z IL1 0=3 | 4 "
7. ZAl+ 2 02> _Z AlO3 83n+he343
Al=] | 2 A= | | 2 ,;'ZNOZ
0=7 | b 0- 3|0 2p|+ 292
8.4 Sn0Os+_2% H:->_[ Sn+_2 H»0 Single QLP\MQWWF
Sn= | || sn= | | | 3H7,0
= Sn il
O= 3 3 0= I -g Z\/\'b
| Swoz*
H= 1 | b H= 2 | °"
9.9 P+ 5 0,5 2 P:0s S ywethesis
P=| X4 Pad Z* r 2?@06
0= 2 [l =5 |10 Lpf*g‘o"
10._ 2 K+ _! MgBr.> _2 KBr+_| Mg Stng\e Disploce ment
K= | 2 K= | ¢ WL
. \ 2\45'”&“ ’
Mg= l [ Mg= \ ' -‘5(1.’7
- 9
| W+ M
\%r: Z_ 2 Br= \ (2 Z

‘7|




Balancing Eguations
Dn ections: Balance the following equations. You must show all your work.

@ﬁ | €4 .2 H2‘>_,'__CH4 S(jn‘H\e,S S .Peawc‘{’lon

Co | ciil Y
-@

Hizly 1y L//

@ / CuCl+_t HS>_s CuS+.2 HCl Dowble displace et

CQ: ’ , CU'fI l R eaction
H 2 7‘ b - A
. S | | ¢z | |
2 G+ X702 R €0+ % W0 Double disple-cement
. f2 2 4 C: , zvq r
. o
Q-2 /WM s oW
H- 06| % 12 ' o
@ H:2 |9 12y
'*“Lthéiné_jENHs Syn*kbnx.
N ' Z_(.i) 2 N' ’ (2} -
L\ Z(?) é H ; g [L) é

Z NaCl+ ! Fo> Z NaF+ Ll Single duplocemest
Mat] | 2% Ne'] |27
il j& = ez f27
c.2 |2 £ EXCd 8|Page



